

OFFICE OF THE :-EXECUTIVE ENGINEER (C)

EHV Civil Constn. Cum Maintenance Division, Mahatransco Administration Building, first Floor, wing no.102, Aurangabad,Ph. No. (0240) 2331429,



E-mail: ee2710@mahatransco.inCIN: U40109MH2005SGC153646

No.:EEC/EHV/CCCM/Dn./ABD//Tech/ 3 0 5 Date:- 18 MAY 2020

E-enquiry

| • | I | | C |). | • | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
|---|---|---|---|----|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|---|-------|---|---|---|---|---|---|---|---|---|---|---|---|---|---|--|---|---|---|---|---|---|---|---|--|--|
| • | | | • | • | | • | • | | • | • | • | • | | • | • | • | | • | • | • | • | • | | • | • | | | • | | • | • | , | • | • | • | • | • | • | • | • | | • | | | • | • | • | | • | • | • | | • | • | • | • | | |
| • | , | • | ٠ | • | | • | • | • | | | • | • | , | • | • | • | | • | • | • | • | • | • | • | • | , | • | • | • | • | • | • | • | • | • | , | • | • | | | • | • | • | • | • | • | • | | • | • | • | • | • | • | | | | |
| | | | | | | | | | | | | | | | | | , | | | | | | , | | | | | | | | | | | | | | | | _ | | _ | _ | | | | | | | | | | | | | | | | |

Sub: Renovation of toilet block and colouring panel room at 220kV MIDC Jalna, Dist. Jalna.

Dear Sir,

Sealed percentage rate quotations are invited from Govt. registered & experienced Contractors for the above work as per schedule enclosed. The quotation should reach to the office of Executive (Civil) EHV CCCM Division Mahatransco Administration Building, first Floor, wing no.102, Aurangabad on or before dated 28/05/2020 Time 16.30 Hrs.

TERMS AND CONDITIONS:

- 1) The work should be carried out as per P.W.D. specification and instructions of the Engineer in-Charge and to the satisfaction of the undersigned.
- 2) The quantities mentioned in the attached schedule are approximate and likely to vary. However payment will be made as per the work actually executed and measured. The rates shown in enclosed schedule B are inclusive of GST.
- 3) The work should be completed within (2) MONTHS from the date handing over the site, failing which the contractor shall be liable to pay as compensation an amount equal to one percent or such similar amount as the competent authority may decide of the W.O. cost for every day the work remain unfinished after due date of completion subject to the maximum 10% of the cost of the order.
- 4) The work which is of bad workmanship quality will not be measured and paid.
- 5) Contractor shall have to arrange for require cement, steel etc. at his own cost without involving any financial implications to MSETCL.
- 6) Other material such as require tools and plant will have to arrange by the contractor at his own cost.
- 7) The water arrangement will have to be made by the contractor at his own cost and it is not binding on the part of department to provide water for the work. In case in water is supplied by Department, then the water will be charged at the rate 1% of work done for water consuming item or 0.25% of total value of work order as decided by the Engineer in-charge.

- The contractor will have to make good the damages if any made by him during the execution of work at his own cost.
- (9) The material should be got approved prior to fixing from the Engineer in-charge.
- Income Tax as per the prevailing income Tax rule and subsequent amendment thereof will be recovered at source of your bill on total value of work done for which the certificate will be issued if desired.
- 11) Contractor should submit the purchase vouchers for cement, steel with the bills invariably.
- 12) Contractor will be held responsible for accident occurred during the course of the work and will have to pay the compensation as per the act 1923 and subsequent amendment thereof.
- Contractor should submit his bill in triplicate through Addl. Executive Engineer (Civil) EHV CCCM Sub-Division Jalnato the undersigned. Payment will be made within 30 days period from the date of receipts of bill tothis office.
- 14) The terms and conditions in the M.S.E.T. Co. Ltd. Booklet 'Tender and contract work' will stand applicable for this work.
- 15) You will have to deposit 14,500.00/-(5% of quotation value) as security deposit in cash/ DD/FDR of any nationalized Bank within 3 days from the date of receipt of work order, failing which EMD will stand forfeited.
- The contractor's offer will be considered as inclusive of all taxes and charges and it will be the contractor's responsibility to pay the taxes to Government and same will not be reimbursed to the contractor.
- 17) Your own offer should be quoted in words and figures scratches and over written rates shall not be considered if not initialed.
- The contractor has to pay earnest money to Rs. 3,000.00/- in cash/RTGS/NEFT/In form of DD/FDR of any Nationalized Bank in favor of EE (C) EHV CCCM DIVISION, MSETC Ltd. Aurangabad. If the EMD of required amount is not found in the envelop the quotation will be rejected.
- 19) The undersigned reserves the right to reject any or all quotations without assigning any reason what so ever.
- 20) GST will be recovered from your bill as per GST norms.

Special condition: The payment shall be effected as per fund availability. Due to shortage of fund there are chances of delay in payments for which the agency will have to bear with the Dept. No. any of claim on this account will be entertained.

- 22) The estimated cost of the work is Rs.2, 85,442.00/- only. (Inclusive of all Taxes)
- 23) Contractor has to submit Valid registration certificate, GST registration certificate, PAN Card & Experience certificate as a mandatory documents at the time of submission of Quotation.

Encl: Schedule'B'

Executive Engineer (C)
EHV CCCM Division.
MSETCL, Aurangabad

Mos

Copy S.W.R.S. to:

- 1. The Chief EngineerEHVP.C. (O&M) Zone MSETCL Aurangabad
- The Superintending Engineer (C) EHV CCCM Circle, MSETCL, Aurangabad.
 ...This is as per approval vide Ltr. No. 440Dtd. 04.05.2020....

Copy to:

- The Addl. Executive Engineer (C) EHV CCCM Sub Division-Jalna.
- The Dy. Manager (F&A) EHV CCM Division Aurangabad. The amount of this work is Chargeableto sanctioned estimate no. T-03/2020-21Dt.04.05.2020 under R&M Budget.
- 3. Notice Board



OFFICE OF THE :-EXECUTIVE ENGINEER (C)

EHV Civil Constn. Cum Maintenance Division, Mahatransco Administration Building, first Floor, wing no.102, Aurangabad,Ph. No. (0240) 2331429, E-mail: ee2710@mahatransco.inCIN: U40109MH2005SGC153646



No.:EEC/EHV/CCCM/Dn./ABD//Tech/

Date:-

(e-Enquiry)

QUOTATION NOTICE

The sealed percentage rate quotations are invited for the following works from the Civil Contractors preferably registered with PWD, Railway and such other department or experienced in similar works of equivalent amount in M.S.E.T.C.L Ltd. The quotations should be submitted in the office of the Executive Engineer (C), EHV Civil Constn. Cum Maint. Division, Mahatransco Administration Building, first Floor,

wing no.102, Aurangabadon or before Dtd. 28.05.2020 up to 16.30 hrs.

The blank quotation will be issued on application to contractors, producing the Certificate of valid registration.

| Q. No. | Name of work | Estimated cost | E.M.D | Time Limit |
|-----------|--|----------------|--------------|------------|
| 1. | Renovation of toilet block and colouring panel room at 220kV MIDC Jalna, Dist. Jalna | | Rs3,000.00/- | 2Months |

(S.P. Kamble)
Executive Engineer (C)
EHV CCCM Division.
MSETCL, Aurangabad

Copy S.W.R.S. to:

1. The Chief EngineerEHVP.C. (O&M) Zone MSETCL Aurangabad

2. The Superintending Engineer (C) EHV CCCM Circle, MSETCL, Aurangabad.

...This is as per approval vide Ltr. No. 440Dtd. 04.05.2020

Copy to:

- 1. The Addl. Executive Engineer (C) EHV CCCM Sub Division-Jalna
- 2. The Dy. Manager (F&A) EHV CCM Division Aurangabad / The amount of this work is Chargeable to sanctioned estimate No. T-03/2020-21Dt.04.05.2020underR&M Budget.
- 3. Notice Board



OFFICE OF THE :-EXECUTIVE ENGINEER (C)

EHV Civil Constn. Cum Maintenance Division.

Mahatransco Administration Building, first Floor,
wing no.102, Aurangabad, Ph. No. (0240) 2331429.

E-mail: ee2710@mahatransco inCIN: U40109MH2005SGC153646



No.:EEC/EHV/CCCM/Dn./ABD//Tech/No.Date: -

Name of Work: Renovation of toilet block and colouring panel room at 220kV MIDC Jalma, Dist.

Jalna

Estimated Amount: -Rs. 2, 85,442.00/- (Inclusive of All Taxes)

(S.P. Kabable)
Executive Engineer (C)
EHV CCCM Division.
MSETCL, Aurangabad

Declaration of Contractor:

| I/We hereby quote for the execution of the specified in the above written memorandum within time specified | | | | | | | | | | | | | |
|--|--|--|--|--|--|--|--|--|--|--|--|--|--|
| in such memorandum at (at Figure)% above/below/Estimated Rate (in Woods | | | | | | | | | | | | | |
| percent above/Below/Estimated rate (to be struck whichever is no | | | | | | | | | | | | | |
| applicable) the estimated rates entered in schedule "B" (memorandum showing item of work to be carried | | | | | | | | | | | | | |
| out) in accordance in all instruction in writing from the Engineer - in - Charge. | | | | | | | | | | | | | |
| I/We have read the general conditions of contracts & the conditions enumerated in the quotation and the | | | | | | | | | | | | | |
| same are binding on us. | | | | | | | | | | | | | |

Signature of the contractor

Full Address:

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD. EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION, AURANGABAD

| / | | Name of | work: Renovation of toiled by | | | | |
|---|-------|-------------|--|--------------|-------------|-------------------------|---------------|
| | C. N | | work : Renovation of toilet block and colouring panel roo Schedule "B" | m at 220kV [| MIDC Jalna, | Dist. Jalna. | |
| | Sr No | Activity No | Schedule "B" Description | | | | |
| | 10 | 50013698 | Removing the existing cement plaster of any thickness without causing dust nuisance and stacking the debris upto a distance of 50 metres or spreading in the compound and cleaning the site, etc. complete. (For Ground Floor) | 5.00 | 48.00 | Unit Square Metre | Amount 240.00 |
| | 20 | 50013233 | Providing internal cement plaster 6 milimetre thick in a single coat in cement mortar 1:4 without neeru finish to concrete surface in all positions including scaffolding and curing, etc. complete. (For Ground Floor) | 5.00 | 205.00 | Square Metre | 1025.00 |
| | 30 | 50013235 | Providing internal cement plaster 12 milimetre thick in a single coat in cement mortar 1:4 without neeru finish to concrete or brick surfaces, in all positions including scaffolding and curing, etc. complete. (For Ground Floor) | 5.00 | 290.00 | Square Metre | 1450.00 |
| | 40 | 50013238 | Providing internal cement plaster 20 milimetre thick in single coat in cement mortar 1:4 without neeru finish to concrete, brick surface, in all positions including scaffolding and curing, etc. complete. (For Ground Floor) | 5.00 | 486.00 | Square Metre | 2430.00 |
| | 50 | 50013345 | Providing and applying priming coat on concrete / masonary / Asbestos Cement / plastered surfaces including scaffolding if necessary, preparing the surface by throughly cleaning oil, grease, dirt and other foreign matters and sand papering as required, etc. comlpete. (For Ground Floor) | 246.00 | 35.00 | Square Metre | 8610.00 |
| | 60 | 50013353 | Providing and applying plastic emulsiton paint of approved quality, colour and shade to old and new surfaces in two coats including scaffolding, preparing the surface (excluding the primer coat), etc. complete. (For Ground Floor) | 246.00 | 78.00 | Square Metre | 19188.00 |
| | 70 | 50013701 | Removing cement tiles, or marble or polished shahabad floor or dado without bed concrete including stacking the materials as directed with all leads, lifts etc. complete. | 32.00 | 42.00 | Square Metre | 1344.00 |
| | 80 | 50005035 | Providing and laying in situ cement concrete of 1:4:8 proportion with trap/ granite/ quartzite/ gneiss metal in foundations including necessary form work, compacting and curring, etc. complete. (with reversible drum type mixer with Supervisory Control and Data Acquisition with fine agreegates of required specifications (Natural sand / VSI sand finely washed etc) | 1.00 | 6272.00 | Cubic Metre | 6272.00 |

| 1 | | | | | | |
|-----|----------|--|-------|---------|-----------------|----------|
| /90 | 50013280 | Providing and laying ceramic tiles of having sizes 30 centimetre X 30 centimetre and confirming to Indian Standard 15622: 2006 (Group Dii-A) and 7 milimetre to 8 milimetre thick for flooring in required position laid on a bed of 1:4 cement mortar including cement float, filling joint with white / colour cement slurry, cleaning, curing, etc. complete. (For Ground Floor) | 8.00 | 1255.00 | Square Metre | 10040.00 |
| 100 | 50013284 | Providing and laying ceramic tiles of having sizes 30 centimetre X 30 centimetre and confirming to corrosponding Indian standared for dado and skirting in required position with ready made adhesive mortar of approved quality on plaster of 1:2 cement mortar including joint filling with white / colour cement slurry, cleanding, curing, etc. complete. (For Ground Floor) | 42.00 | 1323.00 | Square Metre | 55566.00 |
| 110 | 50013713 | Removing Urinal Pans or Wash hand basin with frame including disconnecting the sanitary and water supply connections, removing the same carefully and stacking the serviceable materials as and where directed including throwing the unserviceable materials out side etc. complete. | 2.00 | 91.00 | Number | 182.00 |
| 120 | 50013594 | Providing and fixing white glazed earthenware full stall type urinal with poly vinyl chloride flushing cistern of 5 litres capacity with fitting inlet pipes and stop tap brackets for fixing the cistern 32 milimetre diameter poly vinyl chloride flush pipe with fittings and flushing arrangement including lead soil pipe, lead trap soil pipe connection upto the outside face of the wall. (For Ground Floor) | 1.00 | 9133.00 | Number | 9133.00 |
| 130 | 50013502 | Providing and fixing white glazed earthenware wash hand basin of 55 centimetre X 40 centimetre size including cold water piller tap / cold and hot water piller tap brackts, rubber plugs and brass chain, stop tap and necessary pipe connections including poly vinyl chloride waste pipe and trap upto the outside face of the wall. Making good the damaged surface, testing etc. complete. (For Ground Floor) | 1.00 | 5319.00 | Number | 5319.00 |
| 140 | 50004146 | Providing and fixing 15 milimetre diameter poly vinyl chloride Aqua kraft type of approved make super pillar tap with flange including all accessories, etc. complete. (For Ground Floor) | 1.00 | 548.00 | Number | 548.00 |
| 150 | 50013306 | Providing sills of granite 20 milimetre to 25 milimetre thick, on a bed of cement mortar 1:4 including cement float, filling joints with neat cement slurry, curing, polishing, rounding edges, cleaning complete. Granite (For Ground Floor) | 5.00 | 4166.00 | Square Metre | 20830.00 |
| 160 | 50013443 | Providing and fixing fibreglass reinforced polyster door shutter 30 milimetre thick as per Indian Standard 14856 (2000) (reaffirmed-2006) without ventilator including chromium plated fixtures and fastening with chromium plated handles on both sides, etc. complete. (For Ground Floor) | 5.00 | 3122.00 | Square Metre | 15610.00 |

| | 1 | | | | | |
|-----|----------|---|-------|---------|-----------------|----------|
| 170 | 50013453 | Providing and fixing in position anodixed (as per Indian Standard 1868-1982) aluminium fixed staggered (2 type) ventilator with aluminium rectangular pipe of milimetre \(\cdot \) 38.10 milimetre \(\cdot \) 1.22 milimetre at weight 0.000 kilogram per running metre, aluminium angle of size 18 milimetre \(\cdot \) 15 milimetre \(\cdot \) 1 milimetre, aluminium channel of \(\cdot \) milimetre \(\cdot \) 1 milimetre xizes stainless steel mosquite net of \(\cdot \) 04 Grade, 4 milimetre thick float glass as detailed drawing and directed by Engineer in-charge, etc. complete (For Ground Flost) | 2 00 | 1568.00 | Square Metre | 7136.00 |
| 180 | 50013512 | Providing and fixing mild steel grill work for windows, ventilator, etc. 20 kilogram per square metre as per drawings including fixtures, necessary welding and painting with one coats of anticorrosive paint and two essats of oil painting, etc. complete. (For Ground Floor) | 2.00 | 1803.00 | Square Metre | 3606 00 |
| 190 | 50013215 | Providing water proof bedding for flooring of bath and water closet 25 milimetre thick in cement mortar 1:3 including using approved water proofing compound in specified proportion as per manufacturers specifications for per bag of cement including leveling, curing and covering 10 years guarantee on court fee stamp paper of Rs. 500-including ponding test, etc. complete. (For Ground Floor) | 8.00 | 433,00 | Square Metre | 3464.00 |
| 200 | 50013213 | Providing waterproof plaster in water closet and bath 20 milimetre thick for dado in coment mortar 1:3 with neat finishing, floating using waterproofing compound at the rate of one kilogram per bag of coment of approved make and manufacturer and curing and filling joints of nahani trap and any outlet properly, etc. complete. (For Ground Floor) | 42.00 | 524.00 | Square Metre | 22008.00 |
| 210 | 50013692 | Removing doors and windows with frames and stacking the materials as directed with all leads, lifts etc. complete. | 3.00 | 148.00 | Number | 444.00 |
| 220 | 50013714 | Removing water closet Pan including disconnecting the sanitary and water supply connections, removing and breaking flooring and bed concrete around pan removing the same carefully and stacking the serviceable materials as and where directed including throwing the unserviceable materials out side etc. complete carefully and throwing out the refusal outside etc. complete. | 1.00 | 195.00 | Number | 195.00 |
| 230 | 50013583 | Providing and fixing first class white glazed earthenware Orissa type water closet pan 580 milimetre chameter including "P" or "S" trap, cast iron soil and vent pipe upto the outside face of the wall, 1:5:10 cement concrete bedding 15 milimetre thick, 10 litre poly vinyl chloride flushing eistern with all necessary pipe connection, etc. complete. (For Ground Floor) | 1.00 | 7043.00 | Number | 7093.00 |
| 240 | 50013613 | Providing and fixing 10 centimetre cast iron nahani trap including cast iron grating, bend and piece of cast iron pipe upto the outside face of the wall complete. (For Ground Floor) | 3.00 | 1136.00 | Number | 3408.00 |

| 1 | / | | | | | |
|-----|----------|--|-------|---------|------------------|----------|
| 250 | 50013643 | Providing and fixing 15 centimetre X 10 centimetre salt glazed stoneware gully trap in cement concrete 1:4:8 outside the building including cast iron grating in the sink, connecting glazed stoneware pipe, brick masonry chamber with cast iron lid and cast iron grating for the gully trap. | 3.00 | 1379.00 | Number | 4137.00 |
| 260 | 50013625 | Providing and fixing polyvinyl chloride Rain water pipes of 110 milimetre outer and having wall thikness of 2.2 milimetre to 2.7 milimetre confirming to Indian standared 13592-1992 including proper rain water receiving recess with polyvinyl chloride plug, bends, necessary fittings, such as offset shoes, inluding fixing the pipe on wall using approved wooden cleats projecting 25 milimetre to 40 milimetre from face of wall a fixing with clips of approved quality and number, filing the joint using rubber gasket with solvent cement and properly resting the shoe of pipes on cement concrete or masonry blocks, including necessary scaffolding andpolyvinyl chloride maintenance for three years for any leakages or dislocations of pipes. All the fittings and additional two piece socket clips shall be got approved from engineer in charge etc. complete. (For Ground Floor) | 5.00 | 519.00 | Running Metre | 2595.00 |
| 270 | 50008311 | Providing and fixing on walls / celling / floor, 15 milimetre diameter chlorinated poly vinyl chloride pipe with necessary fittings, remaking good the demolished portion, etc. complete.Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete. (For Ground Floor) | 77.00 | 251.00 | Running Metre | 19327.00 |
| 280 | 50008313 | Providing and fixing on walls / celling / floor, 25 milimetre diameter chlorinated poly vinyl chloride pipe with necessary fittings, remaking good the demolished portion, etc. complete.Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete. (For Ground Floor) | 25.00 | 340.00 | Running Metre | 8,500.00 |
| 290 | 50013560 | Providing and fixing 15 milimetre diameter screw down bib / stop tap of brass including necessary socket union nut complete. (For Ground Floor) | 4.00 | 647.00 | Number | 2588.00 |
| 300 | 50014106 | Labour charges for Mazdoor unskilled - heavy male at the | 15.00 | 582.00 | Day | 8730.00 |
| 310 | 50014095 | Conveying materials obtained from road cutting including all lifts, laying in layers of 20 centimetre to 30 centimetre, breaking clods, dressing to the required lines, curves, grade and section, watering and compacting to 97 percent of standard proctor density for a lead of over 50 metres to 300 metres inclusive from the site of excavaion to the site of deposition, as directed. | 10.00 | 164.00 | Cubic Metre | 1040.00 |

| | | | | | | 285442.00 |
|------|----------|---|--------|--------|--------|-----------|
| | | union nut complete. (For Ground Floor) Total | 2.00 | 834.00 | Number | 1668.00 |
| 340 | 50013565 | Providing and fixing screw down for 25 milimetre diameter wheeled stop tap of bases in the stop | | 96.00 | Metre | 23616.00 |
| ,330 | 30003687 | plastered surface and ceiling and walls to prepare surface even and smooth approved make etc complete. (For | 246.00 | 96.00 | Square | |
| 330 | 50013656 | delivery upto destination housting, fixing of accessaries such as inlet, outlet, overflow pipe inclusive of all Taxes, Floor) Providing and and the first outlets are the first of the first outlets. | 500.00 | 15.00 | Litre | 7500.00 |
| | | Provoding and fixing high density polyethylen container of approved make one piece moulded water tank made out of high density polyethylen and built corrugated include delivery upto destinate. | | | | |

Executive Engineer (C)
EHV CCCM Division, Aurangabad